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Ans

Q1 The sequence of folding a piece of paper and the manner in which the folded
paper has been cut is shown below. Select the figure which would mest closely
resemble the unfolded form of the paper.

L o
Oé éo

Question ID : 26433087098
Status : Answered
Chosen Option : 2
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Q.2 Select the correct combination of mathematical signs to sequentially replace the %
signs and to balance the given equation.
48 % 12% 5% 5% 4

X1ox = -

Ans

Question ID : 26433087047
Status : Answered
Chosen Option : 2

Q.3 In a certain code language, BRAVE is coded as 48, and SPEAR is coded as 59. How
will VICTOR be coded in that language?

X 1.85
X 2.81
o 3.87
X 4.83

Ans

Question ID : 26433067996
Status : Answered
Chosen Option : 3

Q.4 Select the set in which the numbers are related in the same way as are the numbers of
the following set.
(NOTE : Operations should be performed on the whole numbers, without breaking
down the numbers into its constituent digits. E.g. 13 — Operations on 13 such as
adding /subtracting/multiplying etc. to 13 can be performed. Breaking down 13 into 1
and 3 and then performing mathematical operations on 1 and 3 is NOT allowed)
(11, 20, 341)
(25, 33, 638)

2 1.(20, 25, 625)
X 2.(12, 29, 341)
X 3.(14, 17, 363)

Ans

o 4. (12, 32, 484)

Question ID : 26433076488
Status : Not Answered
Chosen Option : --

Q.5 Which of the following letter-clusters will replace the question mark (?) in the given
series?
XEJT, UHMQ, ?, ONSK, LQVH

Ans 4 1. RKPN
X 2.SKQN
X 3.RKQM

5 4.RLPN

Question ID : 26433076447
Status : Answered
Chosen Option : 1
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Q.6 In this question, three statements are given, followed by two conclusions numbered |
and Il. Assuming the statements to be true, even if they seem to be at variance with
commonly known facts, decide which of the conclusions logically follows/follow from
the statements.

Statements:

All notebooks are pink.

All pinks are shirts.

Some shirts are trousers.
Conclusions:

I. All trousers are notebooks.
Il. Some trousers are pink.

Ans X 1. Only conclusion | follows.
25 2. Both conclusions | and Il follow.
«# 3. Neither conclusion | nor Il follows.

#< 4. Only conclusion Il follows.

Question ID : 26433070394
Status : Answered
Chosen Option : 3

Q.7 A#B means ‘A is the brother of B’
A @ B means ‘A is the daughter of B’
A & B means ‘A is the husband of B’
A % B means ‘A is the wife of B’
A * B means ‘A is the son of B’
If M*G@K@B%A*W, then how is A related to G?

Ans  # 1. Mother’s father
25 2. Brother
25 3. Father
25 4. Mother

Question ID : 26433082533
Status : Answered
Chosen Option : 1

Q.8 In a certain code language, ‘TRAVEL’ is written as ‘156’, ‘PERSON’ is written as ‘174’,
how will ‘ALMOND?’ be written as in that language?

Ans X 1.64

o 2.118
X 3.59
X 4.120

Question ID : 26433083113
Status : Answered
Chosen Option : 2
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Q.9 Six candidates Anand, Balu, Charan, Dinesh, Emran and Farhad were seated on a
circular table for group discussion at equal distance, facing the centre of the circle.
Dinesh is the immediate neighbour of Emran and Balu while Charan is the immediate
neighbour of Anand and Farhad. If Farhad is to the immediate right of Balu, then who
is on the immediate right of Dinesh?

Ans X 1.Farhad
25 2. Anand
25 3.Emran
" 4. Balu

Question ID : 26433079053
Status : Answered
Chosen Option : 4

Q.10 Six friends (P, Q, R, S, T and U) are sitting around a circular table facing the centre. P
sits second to the right of U. R sits third to the right of Q. S and R both are the
immediate neighbours of P. Who sits between Q and P?

Ans X 1.T
K 2.R
3.5
&S 40U

Question ID : 26433092774
Status : Answered
Chosen Option : 3
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Q.11 Select the figure from among the given options that can replace the question mark

(7) in the following series.

x ﬁxuto
> +|a ?
X ola -
Ans
F 4
X1 1@ A
* x @
® 5
2 |
X @ A
L ]
X3 & =
x @ a
® C
X4l
@ x A

Question ID : 26433080496
Status : Answered
Chosen Option : 2
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Q.12 Select the option figure which is embedded in the given figure. (Rotation is NOT
allowed).

Ans

Question ID : 26433076580

Status : Answered

Chosen Option : 2

Q.13 Which letter-cluster will replace the question mark (?) to complete the given series?
AKED, ENGE, ?, MTKG, QWMH

Ans X 1.1QJE
X 2.IRIF
« 3. 1QIF
X 4.1QJF

Question ID : 26433068576

Status : Answered

Chosen Option : 3
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Q.14 Which of the following numbers will replace the question mark (?) in the given series?
50, 60, 51, 62, 54, 66, 59, 72, ?

Ans X 1.71
& 2. 66
X 3.65
X 4.64

Question ID : 26433082868
Status : Answered
Chosen Option : 2

Q.15 Select the option that is related to the fifth letter-cluster in the same way as the second
letter-cluster is related to the first letter-cluster and the fourth letter-cluster is related
to the third letter-cluster.

EXPLAIN : AEILNPX :: MEDICAL : AEICDLM :: PRIVACY : ?

Ans X 1.AICPRYV
& 2. AICPRVY
X 3.AICRPVY
< 4.ACIPVRY

Question ID : 26433082629
Status : Answered
Chosen Option : 2

Q.16 Which option represents the correct order of the given words as they would appear in
the English dictionary?
1 Bread
2 Brain
3 Break
4 Broom
5 Bridge

Ans X 1.32,145
& 2.21354
X 3.31245
X 4.23145

Question ID : 26433069319
Status : Answered
Chosen Option : 2
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Q.17 Select the correct mirror image of the given figure when the mirror is placed at MIN

as shown below.

XxXCwV523A

i XCMASI3A
>XJMARC3VY
xXCMV233VY
v XKCMARSI3Y

Question ID : 26433080805
Status : Answered
Chosen Option : 4

Q.18 Which two signs should be interchanged to make the below equation mathematically
correct?
12-14+40+8x12=64

Ans X 1.+and+

& 2. +and x
o 3. +and -
X 4. -and +

Question ID : 264330117543
Status : Answered
Chosen Option : 3

Q.19 Select the option that is related to the fifth letter-cluster in the same way as the second
letter-cluster is related to the first letter-cluster and the fourth letter-cluster is related
to the third letter-cluster.

DOWN: VKCL:: ARMY: YHMA :: HOME:?

Ans X 1.GNLD
& 2. RKMU
X 3. TMOW
X 4.SLNV

Question ID : 26433057495
Status : Answered
Chosen Option : 2
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Q.20 Which of the following numbers will replace the question mark (?) in the given series?
23, 24, 50, 153, ?

Ans X 1.512
X 2.516

o 3.616
X 4.204

Question ID : 26433082004
Status : Not Answered
Chosen Option : --

Section : Part-B-General Knowledge and General awareness

Q.1 (NPS) is a voluntary, defined contribution retirement savings scheme to
enable the subscribers to make optimum decisions regarding their future through
systematic savings.

Ans X 1. National Permit System
«# 2. National Pension System
#< 3. National Paid Scheme

5 4. National Payer System

Question ID : 264330116174
Status : Answered
Chosen Option : 2

Q.2 ‘Gonph’ dance is a famous folk dance of which state?
Ans X 1. Uttar Pradesh

" 2. Goa
< 3. Bihar
#< 4. Odisha

Question ID : 26433074073
Status : Not Answered
Chosen Option : --

Q.3 Which of the following is not an essential Qualification for the candidature of
President?

Ans X 1. Qualified for election as a member of the House of the People
< 2. Minimum Thirty-Five years of Age
#< 3. Citizen of India
4" 4. Higher Education

Question ID : 264330115664
Status : Answered
Chosen Option : 4
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Q.4 InIndia, the responsibility of conducting the decadal census rests with which
ministry?

Ans  # 1. Ministry of Home Affairs

< 2. Ministry of Finance

#< 3. Ministry of Corporate Affairs

& 4. Ministry of Statistics

Question ID : 264330116037
Status : Answered
Chosen Option : 1

Q.5 Identify the third layer of soil from top.

Ans X 1. Unweathered parent bed rock
& 2. Sub soil
25 3. Top soil

" 4. Substratum weathered parent rock material

Question ID : 26433091492
Status : Not Answered
Chosen Option : --

Q.6 The Hemis festival is predominantly celebrated in

Ans X 1.Puducherry
#5 2. Chandigarh
# 3. Ladakh

< 4. Lakshadweep

Question ID : 26433094885
Status : Answered
Chosen Option : 3

Q.7 Which five year plan was running in India during the 1971 Indo-Pak war?
Ans X 1.Eighth

" 2. Fourth

5 3. Second

& 4. Sixth

Question ID : 264330116127
Status : Not Answered
Chosen Option : --

Q.8 InIndia, the first phase of the green revolution was from mid upto mid
2 1.1940, 1950
< 2.1970, 1980
" 3. 1960, 1970

X 4.1950, 1960

Ans

Question ID : 264330115412
Status : Not Answered
Chosen Option : --
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Q.9 The Asian Games 2018 was held in which of the following country?
Ans  # 1.Indonesia

< 2. Singapore
Z5 3. Thailand
5 4. Maldives

Question ID : 264330116256
Status : Not Answered
Chosen Option : --

Q.10 Aparna Satheesan was honoured with the prestigious Bharata Shastra Nritya Praveena
National Award for her outstanding performance in which dance form?

Ans X 1. Kathakali
5 2. Bharatnatyam
X 3. Lavani
" 4. Kuchipudi

Question ID : 264330115828
Status : Not Answered
Chosen Option : --

Q.11 What is the diameter and weight of the discus used in a discus thrown in Men's
category?

Ans X 1.3kg in weight and 24cm in diameter
< 2. 2kg in weight and 23cm in diameter
" 3. 2kg in weight and 22cm in diameter
& 4. 2.5kg in weight and 22cm in diameter

Question ID : 264330115930
Status : Not Answered
Chosen Option : --

Q.12 In 2019, with million tonnes of crude steel production, India ranked 2nd among
the world crude steel producers.

Ans X 1.71
X 2.234
X 3.198
o 4. 111

Question ID : 264330115577
Status : Not Answered
Chosen Option : --
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Q.13 Which among the following elements has atomic number 33?
Ans 1. Arsenic

#5 2. Barium
75 3. Neon
25 4. lodine
Question ID : 264330115169
Status : Answered
Chosen Option : 1
Q.14 The has the sole authority to issue banknotes in India.

Ans X 1. State Bank of India
< 2. Securities bank
< 3. World bank
" 4. Reserve bank of India

Question ID : 264330115330
Status : Not Answered
Chosen Option : --

Q.15 Who has been appointed as Vice Chairman of NITI AAYOG from 1 May 2022?
Ans X 1.Gita Gopinath

X 2. Dr. Hiren Joshi
#5 3. Ranjan Gogoi
" 4. Suman Bery

Question ID : 264330115033
Status : Answered
Chosen Option : 4

Q.16 As the Mauryan empire was so large, different parts were ruled differently. The area
around was under the direct control of the emperor.

Ans X 1. Taxila
< 2. Ujjain
" 3. Pataliputra
& 4. Lumbini

Question ID : 26433085222
Status : Not Answered
Chosen Option : --
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in

Ans X 1.May 1918
X 2. May 1919
< 3. March 1918
" 4. March 1919

Q.17 To defend the Khalifa's temporal powers, a Khilafat Committee was formed in Bombay

Question ID : 264330115720
Status : Not Answered

Chosen Option : --

Q.18 Which of the following pair of cell - shape is correct?
I. Red blood cells - Spherical shape
Il. Muscle cells - Spindle shape

Ans X 1. Neither | nor Il
¥ 2.Both l and Il
< 3. 0nly I
X 4.0nly |

Question ID : 264330115211
Status : Not Answered

Chosen Option : --

Q.19 Which of the following duties was NOT added by the 42nd amendment to the Indian
Constitution?

Ans  # 1. To provide opportunities for education to one’s child or ward between the ages of s
and fourteen years

#% 2. To value and preserve the rich heritage of the country’s composite culture
#5 3. To safeguard public property and to abjure violence

#5 4. To uphold and protect the sovereignty, unity and integrity of India

ix

Question ID : 26433090666
Status : Not Answered

Chosen Option : --

Q.20 Who was approved as the non-executive part time chairman of Yes Bank by Reserve
Bank of India in September 20227

Ans X 1. Osborn Smith
#5 2. Shaktikanta Das
" 3. Rama Subramaniam Gandhi
5 4. Raghuram Rajan

Question ID : 264330114950
Status : Not Answered

Chosen Option : --

Section : Part-C-Elementary Mathematics
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Q.1 Ankita bought some toys at 10 percent discount on the original price. The original
price of each toy was Rs. 50. If she made a total savings of Rs. 450, then how many
toys did she buy?

Ans X 1.75
X 2.50

3.9
X 4.45

Question ID : 264330116743
Status : Answered
Chosen Option : 3

Q.2 Acyclist and a jogger cover a certain distance at a certain speed. If the jogger covers
one-third of the distance covered by cyclist in double of the time as that taken by the
cyclist, the ratio of the speed of the jogger to that of the cyclist is:

Ans X 1.1:9
K 2.9:1
3.1:6
X 4.6:1

Question ID : 26433075441
Status : Answered
Chosen Option : 3

Q.3 A woman buys an item for Rs.950 and sells it for Rs.1,150. What is her percentage
profit (rounded off to the nearest integer)?

Ans o 1.21%
& 2.23%
< 3.20%
& 4.22%

Question ID : 26433075758
Status : Not Answered
Chosen Option : --

Q.4 On an item, a shopkeeper offers a discount of 7.5% on the marked price and a
cashback of ¥10 per item. He still earns ¥5 per item. If ¥x is the marked price of each
item, then, what is the cost price (in %) of each item?

Ans X 1.0.915x-5
& 2.0.925x-5
o 3.0.925x - 15
& 4.0.915x - 15

Question ID : 26433085451
Status : Not Answered
Chosen Option : --
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Q.5 After deducting 15% from a certain sum and then 25% from the remainder, there is
%4,335 left. Find the original sum.

Ans 126,800
X 2. 26,700
X 3 26,500
X 4. 27,000

Question ID : 26433080155
Status : Not Answered
Chosen Option : --

Q.6 The expenditure of a man is 70% of his income. If his income will successively
increase by 20% and 50%, then his new expenditures is how much percentage
more/less than his previous expenditure, so that his new savings become 2.5 times of

the previous savings?
Ans " 1. More, 50%

& 2. Less, 50%
& 3. Less, 54%
X 4. More, 54%

Question ID : 26433081066
Status : Not Answered
Chosen Option : --

Q.7 A completes 80% of a work in 20 days. Then B joins A and they complete the
remaining work in 3 days. How long will B alone take to complete the whole work?

Ans 1

v 1. 37- days
X 2. 40 days
X 3. 39 days

1
X 4. 35— days

Question ID : 26433075163
Status : Not Answered
Chosen Option : -
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Q.8 The maximum length of a rod (in m) that can be kept in a cuboidal room of length 10
m, breadth 6 m and height 8 m, is:

Ans x 1 M
x212v2
@3 1072

x4 152

Question ID : 26433074475
Status : Not Answered
Chosen Option : --

Q.9 The ratio of cheese to sauce for a single pizza is | cup toi cup. If Rama used 15 cups of sauce to make a certain

number of pizzas, then how many cups of cheese did she use on those pizzas?
Ans  # 1.30
< 2.20
& 3.40
& 4.10

Question ID : 26433075812
Status : Not Answered
Chosen Option : --

Q.10 A bicyclist travels 20 miles in 2 h and 30 min and 10 miles in 1 h 15 min. Find the
average speed in miles per hour.

Ans X 1.6
X 2.10
X 3.4
4.8

Question ID : 26433081550
Status : Not Answered
Chosen Option : --

Q.11 Sakshi and Komal together can complete a work in 10 days. Komal can complete the
same work in 22 days. They started working together but Sakshi left the work after 3
days and Komal completed the remaining work alone. Find the total number of days in
which the work is completed.

Ans X 1.88/5days
" 2.92/5 days
75 3.97/5 days
< 4.44/5 days

Question ID : 264330116858
Status : Not Answered
Chosen Option : --
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Q.12 A bank offers compound interest at the rate of 10% per annum when interest is

compounded half-yearly. A customer deposits Rs.3,200 each on 1st January and
July of a year. At the end of the year, what will be the amount received by customer as
interest?

Ans 1. Rs.488

1St

% 2.Rs.656
X 3.Rs.720
X 4.Rs.528

Question ID : 26433072972
Status : Not Answered
Chosen Option : --

Q.13
16%x9=4o0f2 ¥
The value of S is:
3 H(0—G) —2 % 3+4of;

Ans 1.3
< 29
< 3.36
X 4.18

Question ID : 26433075752
Status : Answered
Chosen Option : 1

Q.14 What is the difference between compound interests on ¥5,000 compounded yearly and
half-yearly for 1 year at 4% per annum?

Ans X 1.32.04
o 2.32.00
X 3.%19.04
X 4.33.20

Question ID : 26433076330
Status : Not Answered
Chosen Option : --

Q.15 The ratio of the money with Geeta and Radha is 7 : 15 and that of the money with
Radha and Savitha is 7 : 16. If Geeta has ¥980, how much money does Savitha have?

Ans X 1. 32,400
X 2. 32,100
X 3.39,800
v 4 34,800

Question ID : 26433076184
Status : Not Answered
Chosen Option : --
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Q.16 A fast local train takes 30 minutes less than a slow local train for a journey of 60 km. If
the speed of the slow local train is 20 km/h less than the speed of the fast local train,
what is the speed of the slow local train?

Ans X 1.60 km/h
X 2.30 km/h
& 3.40 km/h
% 4.50 km/h

Question ID : 26433080289
Status : Not Answered
Chosen Option : --

Q.17 A person travels from one place to another at 180 km/h and returns to the starting
point by the same route at 240 km/h. If the total time taken is 6 h, then find the distance
between two places.

Ans X 1.872.26 km
X 2.720.84 km
X 3.650.28 km
o 4.617.14 km

Question ID : 26433080047
Status : Not Answered
Chosen Option : -

Q.18 The length, breadth and the height of a cuboid are 24 cm, 18 cm and 12 cm
respectively. It is melted to make smaller cubes. If the length of the side of the cube is
6 cm, then what is the number of cubes formed?

Ans X 1.22
X 2.26
< 3.18
o 4.24

Question ID : 26433075713
Status : Not Answered
Chosen Option : --

Q.19 The numbers 73, 115 and 185 are divided a by number to leave the same remainder.
Find the greater possible such number.

Ans X 1.5
X 27

o 3. 14
X 411

Question ID : 264330116667
Status : Not Answered
Chosen Option : --
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Q.20 As shopkeeper using a faulty weight while professes to sell the article at cost price
and gains a profit of 25%. Find the faulty weight he uses for 1000 g.

Ans X 1.850g
K 27509
& 3.800g
X 4.975¢g

Question ID : 26433080020
Status : Not Answered
Chosen Option : --

Section : Part-D-English

Q.1 Select the option that expresses the given sentence in future tense form.
We were holding the things with a strong rope.
Ans  # 1. We will be holding the things with a strong rope.
#< 2. We have been holding the things with a strong rope.
< 3. We were being holding the things with a strong rope.
5 4. We are holding the things with a strong rope.

Question ID : 26433089293
Status : Answered
Chosen Option : 1

Q.2 Select the correct word for the blanks in the given sentence.
A is a nocturnal animal and a is needed for the game of cricket.
Ans X 1.ball
5 2. bales
< 3. goal
" 4. bat

Question ID : 26433060534
Status : Answered
Chosen Option : 4

Q.3 Select the most appropriate option to fill in the blank.

Her face was ______ after seeing the house in such condition.
Ans X 1.bedew
o 2. blue
< 3. brew
& 4. blew

Question ID : 26433090393
Status : Answered
Chosen Option : 1
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Q.4 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution’.

She has barely made it to the airport, when she heard the news of her dad’s accident.
Ans X 1. have barely made it
" 2. had barely made it
75 3. No substitution

#5 4. is barely making it

Question ID : 26433089112
Status : Answered
Chosen Option : 2

Q.5 Select the most appropriate set of words to complete the sentence.

| want to see the Dussehra in Delhi, what is the second-class railway
from Agra to Delhi.

Ans 1. fair; fare
X 2. fare; fair
< 3. fair; fair
& 4. fare; fare

Question ID : 26433088871
Status : Answered
Chosen Option : 1

Q.6 Select the most appropriate meaning of the given idiom.

Flash in the pan

Ans X 1. Someone who helps others when they are in need, with no discussion for
compensation, and no thought of a reward

" 2. Something that looks promising in the beginning but fails to deliver anything in the
end

#5 3. Not willing or wanting to change from your normal way of doing something

#5 4. Aplace where people gather to buy and sell inexpensive goods

Question ID : 26433073715
Status : Answered
Chosen Option : 1

Q.7 Select the most appropriate ANTONYM of the given word.
Autonomy
Ans X 1. Temperance
X 2. Partiality
«" 3. Dependency
< 4. Righteousness

Question ID : 26433086517
Status : Answered
Chosen Option : 1
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Q.8 Select the most appropriate option that can substitute the underlined segment in the
given sentence.

Your health could suffer if you spend more time with the automobiles.

Ans  # 1.in front of electronic devices
#5 2. in backlog of machines

X 3. besides the machines

5 4. after the digital devices

Question ID : 26433089800
Status : Answered
Chosen Option : 1

Q.9 Select the most appropriate synonym of the given word.
Compact

Ans  # 1. Dense

75 2. Expand

75 3. Whole

#5 4. Holistic

Question ID : 26433084890
Status : Answered
Chosen Option : 1

Q.10 Select the most appropriate meaning of the given idiom.
Go the extra mile
Ans  # 1. Do much more than required
#5 2. Spend more money than required
#5 3. Walk more than required
< 4. Talk more than required

Question ID : 26433072676
Status : Answered
Chosen Option : 1

Q.11 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution’.
Prince Charles became a youngest heir to the throne at the age of seven.

Ans X 1.the youngest heir to an throne
#5 2. No substitution
«” 3. the youngest heir to the throne

< 4. a youngest heir to a throne

Question ID : 26433092939
Status : Answered
Chosen Option : 3
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Q.12 Select the most appropriate ANTONYM of the given word.
Insipid
Ans X 1. Explicit
5 2. Opaque
" 3. Tasty

& 4. Immense

Question ID : 26433071978
Status : Not Answered
Chosen Option : --

Q.13 Select the INCORRECTLY spelt word.
Ans X 1. Slaughter

< 2. Dampness
5 3. Anthropology
4" 4. Phinomenon

Question ID : 26433073514
Status : Answered
Chosen Option : 4

Q.14 Identify and correct the INCORRECTLY spelt word in the given sentence.

The flovers in the garden seemed as if they refused to bloom for spraying pesticides
on them.

Ans X 1. pestisides
#5 2. blome
< 3. refuced
" 4. flowers

Question ID : 26433072762
Status : Answered
Chosen Option : 4

Q.15 Select the most appropriate synonym of the underlined word from the given options.

The benevolent lady donated her estate for the welfare of the city.
Ans X 1.Foolish

¥ 2. Gracious
< 3. Insane
5 4. Charming

Question ID : 26433086516
Status : Answered
Chosen Option : 4
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Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The most common health conditions (1) people today include heart disease, stroke,
diabetes, and cancer. When people are experiencing these conditions, they (2) the
illness side of the spectrum. Lifestyle factors that put you at risk for developing these
conditions include smoking, alcohol substance use disorder, lack of exercise, sleep

(3) , and a diet rich in processed foods, sugar, saturated fat, and artificial flavours.
An (4) weight is another factor that can put one at risk for these conditions, especially
carrying extra weight (5) your midsection.

SubQuestion No : 16

Q.16 Select the most appropriate option to fill in blank 1.
Ans X 1.looking
25 2. towards
" 3. facing
< 4. against
Question ID : 26433089843
Status : Answered
Chosen Option : 3
Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
The most common health conditions (1) people today include heart disease, stroke,
diabetes, and cancer. When people are experiencing these conditions, they (2) the
iliness side of the spectrum. Lifestyle factors that put you at risk for developing these
conditions include smoking, alcohol substance use disorder, lack of exercise, sleep
(3) , and a diet rich in processed foods, sugar, saturated fat, and artificial flavours.
An (4) weight is another factor that can put one at risk for these conditions, especially
carrying extra weight (5) your midsection.
SubQuestion No : 17
Q.17 Select the most appropriate option to fill in blank 2.
Ans X 1.countto
75 2.divein
< 3. pass off
& 4. fall into

Question ID : 26433089844
Status : Answered
Chosen Option : 4
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Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The most common health conditions (1) people today include heart disease, stroke,
diabetes, and cancer. When people are experiencing these conditions, they (2) the
illness side of the spectrum. Lifestyle factors that put you at risk for developing these
conditions include smoking, alcohol substance use disorder, lack of exercise, sleep

3) , and a diet rich in processed foods, sugar, saturated fat, and artificial flavours.
An (4) weight is another factor that can put one at risk for these conditions, especially
carrying extra weight (5) your midsection.

SubQuestion No : 18
Q.18 Select the most appropriate option to fill in blank 3.
Ans X 1. desire

X 2. impoverishment
«# 3. deprivation
< 4. poverty

Question ID : 26433089845

Status : Not Answered

Chosen Option : --

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The most common health conditions (1) people today include heart disease, stroke,
diabetes, and cancer. When people are experiencing these conditions, they (2) the
iliness side of the spectrum. Lifestyle factors that put you at risk for developing these
conditions include smoking, alcohol substance use disorder, lack of exercise, sleep

(3) , and a diet rich in processed foods, sugar, saturated fat, and artificial flavours.
An (4) weight is another factor that can put one at risk for these conditions, especially
carrying extra weight (5) your midsection.

SubQuestion No : 19
Q.19 Select the most appropriate option to fill in blank 4.
Ans X 1.empirical

#5 2. unhygienic
75 3. contaminated

" 4. unhealthy

Question ID : 26433089846

Status : Not Answered

Chosen Option : --
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Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The most common health conditions (1) people today include heart disease, stroke,
diabetes, and cancer. When people are experiencing these conditions, they (2) the
iliness side of the spectrum. Lifestyle factors that put you at risk for developing these
conditions include smoking, alcohol substance use disorder, lack of exercise, sleep

3) , and a diet rich in processed foods, sugar, saturated fat, and artificial flavours.
An (4) weight is another factor that can put one at risk for these conditions, especially
carrying extra weight (5) your midsection.

SubQuestion No : 20
Q.20 Select the most appropriate option to fill in blank 5.
Ans X 1.concerning

" 2. around
25 3. directing
< 4. against

Question ID : 26433089847
Status : Not Answered
Chosen Option : --

Section : Part-D-Hindi
Q.1 il afear
IR AYF TS BT Y U T gRM?
Ans g 1 Tid @ Sfgal
X 2. Tial & Bfsar
X 3. T Bt Bt
X 4. T B Sfear

Question ID : 26433063061
Status : Not Answered
Chosen Option : --

Q.2 fmfafay e | oy te area & SRR T & e Sfra vafaar &1 wahr gan 82
Ans 2 1. ISHIER &1 WGHIG gFATgU Il & |

X 2.8 T PATS

X 3.3d 31 TRl B B

X 4. gHuE B

Question ID : 26433091188
Status : Not Answered
Chosen Option : --
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Q.3 et W 9 g arguiw F fore 3fa wreg samgT-
Ans X 1. ORifHd

X 2. dmifea

& 3. 31

X 4. 9EH

Question ID : 26433065909
Status : Not Answered
Chosen Option : --

Q4 78 A SH-A1 Weg I BT wafgar 76 32
Ans X' 1. Td®
o 2. YT
X 3.9

X 4. garH

Question ID : 26433066895
Status : Not Answered
Chosen Option : --

Q.5 FgRifad area & 5y o § orgfe 872
A0 B g8 TR SR S SR et A

Ans X 1. BRI
o 2. SR
X 3. Wit
X 4 FRO

Question ID : 26433066767
Status : Not Answered
Chosen Option : --

Q.6 I U H 3D AT
I@ifed Wes & A g T 79T B

Ans 1 fqug
X 2. pus
X 3. e
X 4.9ug

Question ID : 26433079645
Status : Not Answered
Chosen Option : -
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Q.7 fyfafad gerey o1 3fua o fiwedt & & gfw)
gt TR BT

Ans X 1. YT SHMA
o 2. TH
X 3. YHURY BT
X 4. HdD A

Question ID : 26433069999
Status : Not Answered
Chosen Option : --

Q8 gAfrfigeafda® &1 foRvpR 781 ST =Ifeu|
3 wraara® w31 | arey gut i)

Ans 71 de0
X 2. 7K™
X 3.9¢T
p RGN

Question ID : 26433062853
Status : Not Answered
Chosen Option : --

Q.9 fu T Iraiw & T A1 e IATST - SIUGR & 9IG BT JHT
Ans X' 1. HLR

o 2. ARG

X 3.9di®

X 4. qdAwTg

Question ID : 26433062586
Status : Not Answered
Chosen Option : -

Q.10 Fufafae aren ¥ fra d@s A 3fe 32
SIgi 9% gHRT fIaR o a8t 81

Ans X 1. fq@R
o 2. 551 db
X 3. 788l
K 4.7HRT

Question ID : 26433066757
Status : Not Answered
Chosen Option : --
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Q.11 AT HIE THd Hg TRH gRiT|
Y@ifed 2reg & AN WUsg FT 994 FIRMTI
Ans X 1. TRH
X 2.33t
o 3. UqS
X 4.9

Question ID : 26433066910
Status : Not Answered
Chosen Option : --

Q.12 Tt Bt sife A RIHR aar g o1 4% 3-
Ans  #1.Td HUC I HH AT

X 2. 9AYd® B FHTer

X 3. BU R RSR &1

X 4.l ot uwifaa T g

Question ID : 26433069948
Status : Not Answered
Chosen Option : --

Q.13 fFafafd o ¥ YEifrd @ & R W WY 811 ad 999 Sugad fawey &1 aa+

<9 U @ gEHgH TR
Ans X' 1 THMED
o 2. TEES
X 3.39169

X 4. oG

Question ID : 26433079667
Status : Not Answered
Chosen Option : --

Q.14 PEfiafad & | v g o7 Ievvr 2-
Ans X' 1 YRd

X 2.1
X 3. gH
o 4. URA™

Question ID : 26433085051
Status : Not Answered
Chosen Option : --
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Q.15 fmfifea i & forg Suge aide e §:
S A A 7

Ans X 1.T&h gHH
o 2. oum
X 3 &
X 4 TR

Question ID : 26433065757
Status : Not Answered
Chosen Option : -

Comprehension:

frafeRad T # @ $© Weal & gl foar T 81 T & 3MUR R g T U H 39 Rad

RIM TR 3 a1l SUGerd Yed] BT 9g Bt
7 MU FHit 39 91d R TRiRArgd® 1 foran 8 o6 ot g0 o o oft § S forw-
o o1 AT §2 ATAT BT, AIGHLH BT, HIGHTST BT, 1 O 3 | 1?2 T 2 =l

S A €, Teb b T T Wei-pg, R a1 T-G B §H JF 81 & 3R Teb & /TR faeIR], Hral
SIS Y Uebe R 3T Ui Sl B 3 Akt & 3ruTa & &7 771 3R 9% 9 IR @ WA 81 T
i 89 R guf U J A T BT IUGR Hcl 8| 39 IUBR BT 3 TR T
3ifirep 31 8 B0 A gor B T g T T A 3T Qa1 e afRy | TR Hrwn & T
TP FoREPR T BT AT et &7 370+t 4 S T Y HEaAd i I8 B
A TR 8! § | T8 B al TAIR P15 TR a4 &1 5
SubQuestion No : 16

Q.16 ¥ I 1 W 31 TTaT qaiiIs IUgad sg 379 A FT EHI?

Ans X 1.9
K 2.9
X 3.3=1
o 4. TR

Question ID : 26433072600
Status : Not Answered
Chosen Option : --
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Comprehension:

Frofoiad e & 3 $o el &1 geT faar T g1 TR & SMUR W e T s H 9 fead

R TR 3 aTel JUYAd Leg] b1 99 Do |
1 3 HH 37 T R TR 1 T g f oot g0 o oo ot € ST frw-
{5 1 TN &2 HI BT, AIGHH BT, AIGUW B, AR IS TH2_ 7H

W A €, Ueb b T T Wei-pg R qUT W-0 B §H Y 81 & 3R U & TR [aaR], Hral
A B UHT IR B W ot o | 3T AT F U1 T 81 T[T 3R I8 9 HR 3G 1 § | T8
e 89 W g0l &Y ¥ T 1 HT IUGR FRA I SATUSRPBI3 IR aY
3 1 5 B0 9 god € & e o I A 9 Sua) Qa1 et wnfe T i & weg
P! fABR g1 X1 A1ge et g1 sruet 4 & T UG Heard foog T8 B
A1 TR 8! § | T8 B dl TAIR P15 TR a3 B3
SubQuestion No : 17
Q17 o R 2 UR 3(TH 19T WA S IUGFT Weg S8 A T R
Ans X' 1.§gq

o 2. S

X 3. fuar

X 4.8

Question ID : 26433072601
Status : Not Answered
Chosen Option : --

Comprehension:

Froforiad e & 3 $o el &1 ge fogr T 71 TR & SMUR W YR T ud H 59 fad
RIM TR 3 GTe IUGad Xeg] b1 9 DI |

1 3 HH 37 T R TR 1 T g f oot g0 o oo off € 3T frw-
5 1 GRTET 82 HIdT BT, Ay Bl AU &1, AR T I dTH2_ &
S 3 B, T & I F Vel R aUT TN B EH YY 81 & IR U g A faaR], Hral
A B UHT IR B Wfa St 31 3T AT F U1 T 87 T 3R F8% 9 HR I A1 8| T8
e 89 W g0l T ¥ A §1 HTIUGR FRA g1 SATUSRBI3 g WaY
3 ¥ 1 3 B0 9 god € & e o I A S9! Qa1 e wnfe faesh i & weg
DT [TRIDPR a1 BT anigy adl 89 Ut 4 & T UG Heardd fob=g T8 B
A1 TR ! § | T8 B dl TAIR P15 TR a4 B3

SubQuestion No : 18
Q.18 f¥ad R 3 W AN 19T WIS ST e 370 A T 2
Ans X' 1. 9g
X 2.9
o 3. 500
X 4.0

Question ID : 26433072602
Status : Not Answered
Chosen Option : --
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Comprehension:

fFrafifed Teiw § A oo Wedl Bl ger faar T B 1 Y F YR W gD T sl § 39 R

R TR 3 aTel JUYSd Leg] 1 99 Do |
1 3 HH 37 T1d R TR 1 far g f oot g0 o oo ot € SuH frw-
{5 1 TN &7 HI BT, AIGHH BT, AIGUW B, AR T IS TH2_ 7H

O 3 B, T & M F Rl R aUT T-H B EH YY 81 & IR U g A faaR], Hral
A B YT IR B Wfad ot o | 3T AT F U1 T 81 T IR I8 § HR I8 1 8| T8
e gH R g0 Y I T 1 HIIUGR IRAN I SHSUSGRBHI3 AR IS
3iftrep 31 0 B0 A Godd B & T & T A A 3T a1 Al =fRe | FAGRR Hron & T
ST oREPR 7 BT ATey vt 89 3o 4 & T WYd pead g I8 HH
ST IR 81 8 | T8 BTH ol dddR B 5 R I BT 8|

SubQuestion No : 19

Q.19 fYad WM 4 W 3 a1 WA IUY Ueg 399 A 91 R1?
Ans o 1. QU

X 2.3

X 3. TR

X 4.7

Question ID : 26433072603
Status : Not Answered
Chosen Option : --

Comprehension:

frofoiad e & 3 $o el &1 ge fodn T 71 TR & SMUR W g T udt H 9 fead
RIM TR 3 GTel SUGad Xsa] BT 9I= DIt |

1 3 HH 37 T R TRATgd® 1 T g f oot g0 o oo off € 3T frw-
5 1 GRTET 82 HIdT BT, AIGYH BT, AU &1, AR T I TH2 &
S 3 B, T & A F Bel- R aUT W-H B EH YY 81 & IR U 8 A faaR], Hral
A B UHT IR B Wfa ot 51 3T AT & U1 T 87 T 3R I8 9 HR I8 1 8| T8
e 89 W QU T ¥ A 1 HT SUGR FRAN g1 SASUSRPBI3_ g WaY
3 1 3 B0 9 god € & e o I A Sua! Qa1 e wnfe T i & weg
DT [TRIDPR ol BT gy adl 89 Ut 4 & T UG Heard fobg T8 B
A1 TR e} § | T8 B dl TAIR P15 TR a4 B3

SubQuestion No : 20
Q.20 fYad T 5 W 3 T WA IUYE Weg S99 A 1 R1?
Ans X 1. fFRT
o 2. 4R
X 3.91®
25 4.3

Question ID : 26433072604
Status : Not Answered
Chosen Option : --
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